Factoring in our Graphs

Draw a sketch of each graph using the properties of polynomial functions. After you complete each sketch,
check with your partner, discuss your strategies, and make any corrections needed.

a) fix)=(x—4)(x+3) d) ixX)=—(x—1)(x+4)(x—") c) fix)=02x—1)(x+ 1)2

¥

e) f(x)=2x(x—2)° d) f(x) =—(2x—3)%(x+2)° f)  fx) = x(x—2)(x + 1)(2x + 3)

9) f(x) =x(x-4) h) f(x) =— (x + 3)%(x = 3)° ) f(x) = X(x + 2)(x = 1)(x = 3)(x + 4)




What's My Polynomial Name?

1. Determine a possible equation for each polynomial function.
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2. Determine an example of an equation for a function with the following characteristics:

a) Degree 3, a double root at 4, a root at —3

b) Degree 4, an inflection point at 2, a root at 5

c) Degree 3, roots at 1§ -1
2 4

d) Degree 3, starting in quadrant 2, ending in quadrant 4, root at —2 and double root
at3

e) Degree 4, starting in quadrant 3, ending in quadrant 4, double roots
at—10and 10




Factoring in our Graphs - SOLUTIONS

Draw a sketch of each graph using the properties of polynomial functions. After you complete each sketch,
check with your partner, discuss your strategies, and make any corrections needed.

¥

a) fix)=(x—4)(x+3) d) ixX)=—(x=1)(x+4)(x—") c) fix)=02x—1)(x+ 1)2

e) fix)=2x(x— 2)3 f) f(x)=x(x—2)(x+1)(2x + 3)

¥

9) f(x)=x(x—-4) h) f(x)=—(x+ 3)%(x—23)° i) f(X) = x(x+2)(x = 1)(x=3)(x + 4)




What's My Polynomial Name? — SOLUTIONS

1. Determine a possible equation for each polynomial function.

a) f(x) =+(DL+G11{O\§)['1.~36' ) fx)=— \Vd,t?)"(l-—(o\ c) fix) = — 15 (A - L,1 )

f - 7
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2. Determine an example of an equation for a function with the following characteristics:

o
a) Degree 3, a double rootat 4, arootat—-3__M\ = O ({1‘”) (1 13)
Mk gt J > )
b) Degree 4, an@at 2,arootat5 W\ = 0\(1 "Z) (\'1"5/

() \
S ‘\?K(ot’l?,\(%’%/ﬂwot”r\)
4 J 7\

\ /o

c) Degree 3, roots at %

d) Degree 3, starting in quadrant 2, ending in quadrant 4, root at —2 and double root

at 3 C‘j”- - (i+3j\1’3)L

e) Degree 4, starting in quadrant 3, ending in quadrant 4, double roots
at—10and 10___ Y= — \m ’Hoyl\ll’lo)?’




